
1 
 

 

STEEL FENDER INSTALLATION 20”FT-750  

 

The steel fender kit comes with both front and rear fender along with all the 
necessary hardware for installation 

 



2 
 

 

 

Hardware for front fender                                            Hardware for rear fender 

6 x 1 x 60mm bolt, spacer, washers, nut                     (x2) 6 x 1 x 30mm bolt, “L” bracket, 5mm screw, washers, nuts  

 

 

 

Tools needed: 

Phillips screwdriver 

8mm wrench 

10mm wrench 

10mm socket and ratchet 

 



3 
 

 

The front fender only has (1) mounting point on the crown of the fork.  

 

Replace the stock headlight mounting bolt with longer one supplied in the kit along 
with the spacers washer and locking nut 



4 
 

 

The rear fender has (2) mounting points: the crossbar on the seat stay and the 
crossbar on the chain stay. Use the supplied bolts washers and locking nuts  

Install the “L” bracket using the 5mm screw and washer and nut, and the 6 x 30mm 
bolt, washer and nut through the upper seat stay crossbar 

 



5 
 

 

Install the 6x 30mm bolt, washer and nut through the lower chain stay crossbar.   

Both front and rear fenders may require slight adjustment for tire clearance and 
alignment 


